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(A) Fill in the blanks ;— - |

(/) Concept of ..o requires
from one accounting perm G

(/1) Recognition of COSt in“the S‘ lftﬂ}jjﬁ‘)ﬁ{l@lﬂ_’ as associated
concept. h

(17]) Personal transacuonsﬂfl re m{nknw
accordance with the co"j‘ b0k s FPENEE

() Ifa firm believes that some

(v) The fact that a busm ‘SSﬂ S &mz '

(vi) Everythmg a ﬂrmA ‘
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(i) The ..o concept states that if straaght line method of d

used in one year, then it should also be used in the next year, FPF;.O;?Z

(viii) A firm may hold stock which is heavxly in demand. Comquédﬂ; fhev
value of this stock may be increasing, Normal accoum.i o
this because of the i seisesiinis | ‘I;ﬂi&procedu;

(ix) The management of a hrm is remarkably m°°mpet¢ht, ,
cannot take this into account while preparmg bogks

................ concept.

[Ans. (/) Consistency (i) Matching
(i}f-) Prudence (v) BusmessEn’a
(vit) Consistency (viii) Conventlonvc;f Bigxd

(ix) Money Measurement]

(B) Mention whether the following are true or
(/) Convention of Prudence results in understﬁie h
‘ OTk 28

(if) Business entlty concept is not appl1cab1

(7if) Only those facts and events are recdrdéflih

being expressed in terms of money. i,

(iv) All items or facts whether material or immat
(v) Assets will be equal to capital if there art

(vi) Revenues are matched with expenses. in

assumption. s

(vii) Entire life of the firm is. d1v1ded 1n ol}a
profits in accordance with ‘Going Cbhcern"

(viii) Materiality principle is an exception to @
(ix) If a firm adopts different accounting pr
conflicts with the concept of con31ste

(x) The essence of convention of prudenc is to @

all possible losses.
[Ans. : True: (0); (iii); (v); (viii); (ix); (‘x)
False : (ii); (v); (vi); (viD)] {4

(C) Choose the best Alternate 3
1. As per Income Tax Act, accountlng» (
(a) From lst January to 31st Decem
(b) From Ist April to 31st March
(¢) From 1st July to 30th June
(d) From Diwali to Diwali 7

2. As per Dual Aspect Concept :
(a) Assets = Liabilities — Capital (b) ASS
(c) Assets ~ Liabilities + Capital (d) Cap
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Concept of Consistency means :
(@) All the firms in the same mdustry should usé-'-

principles and procedures st b :
(b) All principles and procedures of accounting are ut‘llt (
(¢) Accounting principles and methods should re, nain
~ year to another : §
(d) All of the above

idéﬁucal ac
7 rﬁ Q‘

4. Convention of conservatism takes mto account .
(a) All future profits and losses 2o AOR
(b) All future profits and not losses
(c) All future losses and not profits ; g '
(d) Neither profits nor losses of the future

5. According to Convention of Conservatism clos
(a) At cost Price

(c) Cost price or realisable

value whichever is less

(h) Depreciation is charged on assets ,
(¢) Recording is made of outstandm ‘
(d) All of the above "__r &> el

7. According to which Concept even |
creditor of the business : ;
(a) Going concern Concept !
(¢) Business Entity Conceptf?v‘f

15% r 9\

(a) Business Entity Conceptd} }
(¢) Historical cost Concept

9. Accrual concept is based on
(a) Matching Concept i
(¢) Cost Conceprif SHitass

10. According to which Conceptt}a sai
year : R
(a) Prudence
(¢) Materiality

(1. Due to which of the follOA p

Sheet : :
(a) Dual Aspect Concept &
(¢) Convention of Matc.
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5 fa
124 L1 COS:; %nancml statements of a busi
ssetMatcnahty Convention )
(©) periodicity concept ] (d)
13. According to the Cost Concept

(a) Assets are recorded at lower of cost A
(b) Assets are recorded by estlmatmg th
(c) Assets are recorded at the value paid fo
(d) Assets are not recorded i

tollowmg prmmples/concepts
(/) Going concern
(@) () & (i)
(©) (@) & (iii)

statement Indicate the prmc1ple thé‘,'
(a) Cost Concept
(c) Full dlsclosure

(a) Full disclosure
(¢) Conservatism

(a) Going concern
(¢) Accrual

18. Omission of paise and sh
based on........ ‘
(a) Conservatism convent1 ,
(c) Matenahty convention

(a) Matching Concept =
(c¢) Cost Concept

[Ans. 1. (b) 2. (c)

8. (h) 9. (a)

15.(d) 16. (¢)
 MIGHER ORDER THINKING SK

What is meant by GAAP?

2. Pro
prietor of the '
Which Congcepi business is treated as credltor t

e
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A customer
of the tota]

Of.Y Ltd. has discontinued his business, He used to purchase 30%
; £00ds produced by X' Ltd. Is it a relevant information in your opinion
and should pe disclosed by X Ltd,

4. ;‘ L‘d-_ 8€ls a contract of T100 crore to build a Shopping-Mal to be completed in
;l years, The Management of the company wants to ascertain profit or loss on

118 contract only when the contract is completed. [s the management justified?

Under which Principle the calibre or quality of the management is not disclosed

in the balance sheet? : £l

6. l\)’\’hlclh accounting principle states that all anticipated losses should be recorded
ut all anticipated profits should be ignored? ' ' Fpalii

7. According to whic

9

h

h concept, depreciation is to be charged as per one particular
method year after year? & SRR G

S0 1)
8. Why the full cost of an asset is not treated as an expense in the year of its
purchase? FVOAR N e MR S aE T A
: QLG SEIROT Ve et Baenin
9. During the year the company purchased ballpoint pens of ( gll'rl'hpse ‘were

issued to employees and were still in use at the en
dccounting concept you would follow in dealing vglth
] AR R0 L Ead

10. A debtor who owes 2 two lac to the Company i
insolvent. Will you disclose this information 1n th
11. Qoods withdrawn by the proprietor for his perso
in the books of accounts. Which accounting concept has
12. In a business provision for doubtful debts is c:
year. Name the two accounting priﬁcfﬁl_és_';fgll"(fh
13. A firm has stationery stock amountihg to 3 %
Accountant of the firm has written it off to P
doing s0? i

year. Which

14, Why closing stock is valued at cost price o
' | ety

15. Do you think that the Con ention of conse
reserves? e

il et
LTS |

Identify the values involved

16.
1471,
18.
19.

'E{

)
]
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